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SECTION  A

Questions and answers in English.

1 You read this notice outside a doctor�s surgery.

What are you asked to do ?

Come in quietly.

Report at reception before sitting down.

Ring the bell before entering.

Ring the bell to get attention.

Write the letter of the correct answer in the box.      
(1 mark)

D

C

B

A

AMdr jwx qoN pihlW GMtI zrUr vjwau [
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2 You see this handwritten message from Amandip.

(a) Who is the message for?

.........................................................................................................................................................

(1 mark)
(b) Where is Amandip going?

.........................................................................................................................................................

(1 mark)
(c) What will he do there?

.........................................................................................................................................................

(1 mark)
(d) How long is he going to stay?

.........................................................................................................................................................
(1 mark)
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3 Ranjit sends this e-mail to her friend Baljit.

(a) What has Baljit been invited to do?

.........................................................................................................................................................
(1 mark)

(b) Who else is going with Ranjit?

.........................................................................................................................................................
(1 mark)
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sYkSn bI

pRSn Aqy au~qr pMjwbI iv`c

4 idlrwj Awpxy dosq nUM ieh eI.-myl Byjdw hY [

(a) idlrwj ieMfIAw jw ky KuS ikauN sI ?

.......................................................................................................................................................
(1 mark)

(A) idlrwj nUM ieMfIAw bwry kI psMd nhIN AwieAw ?

.......................................................................................................................................................
(1 mark)

(e) ikauN ?

.......................................................................................................................................................
(1 mark)

TURN  OVER  FOR  THE  NEXT QUESTION

5

mYN k`lH hI ieMfIAw qoN vwps AwieAw hW [ myrw
tir`p bhuq cMgw irhw [ mYN Awpxy swry 
irSqydwrW nUM iml ky bhuq KuS hoieAw [ au~Qy 
mOsm ieMnw cMgw nhIN sI [ DuMd bhuq hI pYNdI 
sI [ svyr qy Swm nUM TMf vI bhuq ho jWdI sI [
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5 mnjIq ny ie`k swdw ijhw 'Sbd-pzl' (word-puzzle) iqAwr kIqw hY ijs iv`c do Sbd-ilstW hn [

pihlI Sbd-ilst

1. isnmw
2. mkwn
3. kwr
4. plyt
5. icVIAw-Gr
6. GMtI
7. pY~g
8. ctxI

au~pr ilKy SbdW nUM hyT ilKy SbdW nwl mYc krky TIk nMbr Kwny iv`c ilKo [

dUjI Sbd-ilst

(5 marks)
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6 qusIN skUl dy noits borf qy dsvIN klws dy b`icAW dw tweIm-tybl dyKdy ho [

(a) ikhVy ivSy dy sB qoN izAwdw lYsn huMdy hn ?

.......................................................................................................................................................
(1 mark)

(A) ikhVy ivSy dy sB qoN G`t lYsn huMdy hn ?

.......................................................................................................................................................
(1 mark)

(e) bu`Dvwr nUM ihswb dw lYsn kdoN huMdw hY ?

.......................................................................................................................................................
(1 mark)

(s) Su`krvwr nUM AwKrI lYsn ikhVw huMdw hY ?

.......................................................................................................................................................
(1 mark)

(h) pMjwbI dy lYsn ikhVy ikhVy idn huMdy hn ?

.......................................................................................................................................................
(1 mark)
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7 ieh ie`k lyK dw ih`sw hY jo hrprIq ny iliKAw sI [ 

vwkW � pVHo [

ilKo :

TIk T
glq g
pqw nhIN ?

(5 marks)
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mYN Awpxy mwqw, ipqw, BYx Aqy Brw nwl rihMdI hW [ myry Brw dw
suBwA bhuq hI hsmu`K hY [ auh hr vyly mzwk krdw rihMdw hY [
myrI BYx bhuq G`t boldI hY [ myrw Brw kihMdw hY ik myrI BYx
bhuq boirMg hY [ myry mwqw jI bhuq g`lW krdy hn [ auh bhuqI
dyr cu`p nhIN bYT skdy [ myry ipqw jI kw&I s^q suBwA dy hn [
auh Awm qOr qy KuS hI rihMdy hn pr kdI kdI jd auh Q`ky huMdy
hn qW bhuq jldI gu`sy ho jWdy hn [ myry mwqw jI kihMdy hn ik
myrw suBwA bhuq im`Tw hY [ swry mYnUM bhuq ipAwr krdy hn [
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8 qusIN ieh ieSiqhwr lokl AKbwr iv`c dyKdy ho [

(a) SoA ikauN ho irhw hY ?

.......................................................................................................................................................
(1 mark)

(A) SoA kdoN hovygw  ?

.......................................................................................................................................................
(1 mark)

(e) SoA ikMny GMty dw hovygw ?

.......................................................................................................................................................
(1 mark)

(s) SoA dw itkt ikMny dw hovygw ?

.......................................................................................................................................................
(1 mark)

(h) SoA dw pRogrwm krn leI kOx Aw irhw hY ?

.......................................................................................................................................................
(1 mark)

10

ivswKI mnwau qy BMgVw pwau

ivswKiI dI KuSI iv`c 26 ApRYl idn Su`krvwr nUM eySIAn

kimaUintI sYNtr iv`c PYimlI ivswKI SoA dw pRbMD kIqw igAw

hY [ SoA dw smW Swm dy Cy vjy qoN ds vjy q`k hY [ itkt isrP

pMj pONf hY [ ds swl qoN G`t aumr dy b`cy muPq jw skdy hn [

mlkIq isMG, sqivMdr ib`tI qy 'pMjwb BMgVw gru`p' pRogrwm

krngy [ pMjwbI Kwxw vI vrqwieAw jwvygw [

9

3681/RF

LEAVE 
MARGIN
BLANK

Turn over��



9 sqbIr quhwnUM AwpxI ishq bwry d`s irhw hY [

sqbIr AwpxI ishq nUM TIk r`Kx vwsqy kI krdw hY ?

TIk au~qr dw nMbr Kwny iv`c ilKo [ (1 mark)

43

21

mYN AwpxI ishq dw bhuq iKAwl r`Kdw hW [ mYN Awpxy Awp nUM iP`t Aqy
qMdrusq r`Kx leI hr roz dOVn jWdw hW [
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10 ikrn klws dy inXmW bwry Awpxy ivcwr d`sdI hY [

klws dy inXm

(a) klws dy inXmW dw hoxw ikauN zrUrI hY ? iqMn g`lW ilKo [

.......................................................................................................................................................

.......................................................................................................................................................

.......................................................................................................................................................
(3 marks)

(A) ijhVy ividAwrQI klws dy inXmW dI pwlxw nhIN krdy, aunHW nUM kI nukswn huMdw hY ?

.......................................................................................................................................................
(1 mark)

END  OF TEST

5

klws dy inXmW dw hoxw bhuq zrUrI hY [ inXmW qoN ibnW b`icAW

dI pVHweI qy bhuq burw Asr pY skdw hY [ inXmW qoN ibnW nw qW

cMgI qrHW pVHwieAw jw skdw hY Aqy nw hI cMgI qrHW is`iKAw jw

skdw hY [ jy b`cy c`up krky nw bYTx qy AiDAwpk nUM iDAwn nwl

nw suxn qW aunHW nUM AOKIAW g`lW smJ nhIN AwauNdIAW [ ijhVy

ividAwrQI inXmW dI pwlxw nhIN krdy, auh Awm qOr qy pVHweI

iv`c ip`Cy rih jWdy hn [
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